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Function Machines - Creating Equations Name:
Write an equation to show the relationship between the input and the output. Answers
Input | Output 2) Input | Output 3) Input | Output
() (u) (V) (W) (i) (r) 1
438 6 84 98 6 60
16 2 20 34 2 20 2.
40 5 31 45 5 50
24 3 67 8l 4 40 3.
32 4 11 25 3 30
4.
5) 6)
Input | Output Input | Output Input | Output
(h) (r) (a) (r) (f) (r) >
89 82 2 10 25 35
101 94 4 20 53 63 6.
26 19 5 25 97 107
25 18 6 30 89 99 ’
72 65 3 15 19 29
8.
8
ne | 3|6]|4]s ) | in@g | 32| 97 | 41| 69 o
Out(n) | 181 36| 24 | 30 Out(v) | 37| 102 | 46 | 74
10.
11.
12.
In(g) | 6335|8102 19| in |42|21|35]14
Out(z) | 58 1 30| 80 | 97 Out() | 6 | 3| 5] 2
In(d) | 54| 36| 45 | 18 12) [ tnq) | 38| 47| 87|58
Outthy ] 6 | 4| 5| 2 Out(w) | 36 | 45| 85 | 56
w 1-10 [92]83][75]67]58]50]42[33] 25|17
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Function Machines - Creating Equations Name: Answer Key
Write an equation to show the relationship between the input and the output. Answers
Input | Output 2) Input | Output 3) Input | Output
() (u) (V) (W) (i) (r) 1 f+8=u
438 6 84 98 6 60
16 2 20 34 2 20 2. V+1d=w
40 5 31 45 5 50
24 3 67 81 4 40 3. I1x10=r
32 4 11 25 3 30
f+8=u vV+14=w ix10=r 4 h-7=r
Input | Output 5) Input | Output 6) Input | Output ax5=r
(h) (r) (a) (r) () (r) 5
89 82 2 10 25 35
+ =
101 94 4 20 53 63 6. _ T+10=r
26 19 5 25 97 107 ex6=n
25 18 6 30 89 99 ’ -
72 65 3 15 19 29 +5=vy
h-7=r ax5=r f+10=r 8 g —
ne | 3|6]|4]s 8 | Ing) | 32| 97 | 41| e9 o g-5=z
Out(n) | 181 36| 24 | 30 Out(v) | 37| 102 | 46 | 74
ex6=n g+o5=v 10. h=7=
11. d+9=h
. U-2=w
In@@ | 6335|8102 0| inm |42|22]35]14
Out(z) | 58 1 30| 80 | 97 Out() | 6 | 3| 5] 2
g-5=z h+7=]
In(d) | 54| 36| 45 | 18 12) [ tnq) | 38| 47| 87|58
Outthy ] 6 | 4| 5| 2 Out(w) | 36 | 45| 85 | 56
d+9=h u-2=w
1-10 [ 92[83]75]67]58| 50| 42[33[25[17]
www.CommonCoreSheets.com 11-12| 8| 0



	Worksheet
	Worksheet

